Chapter 19

Answers – Ratio Analysis

1.
(a) Ratio analysis calculation

	
	
	1999

	(i)
	Return on shareholders’ capital = Profit before tax / share capital and reserves x 100%
	24.6%

	(ii)
	Net assets turnover = Turnover/Net assets
	2.9

	(iii)
	Total assets turnover = Turnover/Total assets
	2.2

	(iv)
	Inventory turnover period = Average inventories/COGS x 365 days
	181.7 days

	(v)
	Receivable collection period = Average trade receivables / Annual credit sales x 365 days
	55.6 days

	(vi)
	Debt ratio = Total liabilities/Total assets x 100%
	23.8%

	(vii)
	Equity ratio = Total owner’s equity/Total assets x 100%
	76.2%

	(viii)
	Interest cover = PBIT/Net finance costs
	2.3

	(ix)
	Dividend cover = EPS/Dividend per share
	1.0

	(x)
	P/E ratio = Current market price/EPS
	3.0

	(xi)
	Dividend yield = DPS/Current market price per share
	33.3%

	(xii)
	Earnings yield = EPS/Current market price per share
	33.3%


(b) Report to Board of Directors

To
:
Directors – Gotech Company Limited

From
:
XYZ (name written down by the candidate)

Date
:
X-X-200

Subject
:
Financial situation of the company in 1999

The following comments are based on a financial ratio analysis of the financial statements of Gotech Company Limited for the two-year period 1998 to 1999. The relevant ratios for analysis are contained in the appendix to this report.

1.
Liquidity

These ratios are important indicators of the short-term viability of the company. A company may go into insolvency because of liquidity problems rather than poor profitability.

Compared with 1998, both the current ratio and quick ratio in 1999 decreased.

This may initially be considered as a sign of the deterioration in liquidity, and less liquid or liquid assets in terms of its ability to meet its current liabilities. Management should investigate the reasons for the decline and try to keep current assets at an acceptable level.

Otherwise the company may have difficult in financing continuing operations.

2.
Profitability

Gross profit and trading profit were leveling off in 1999. The gross profit margin dropped while the trading profit margin remained relatively stable.

This may have been caused by effective internal cost controls of the company in terms of salaries and other expenses. Management should investigate method(s) to further control costs, and look into the factors causing the surge in costs of sales.

Returns on total assets and returns on shareholders’ capital increased. This shows that the company is better utilising its assets.
However, the company should look into the impact of the change in the components of its assets, as its current assets dropped but fixed assets rose in 1999. The drop in current assets may worsen liquidity and the working capital of the company. The rise in fixed assets may have come to an end. The fixed assets turnover ratio may have been pushed down. Detailed analysis should be conducted.

3.
Management efficiency

Net assets turnover and total assets turnover rose slightly.

If we also compute the fixed assets turnover ratio, we see that the ratio dropped significantly in 1999 (from 9.62 times to 6.45 times) as the result of a surge in fixed assets. The growth in fixed assets and total assets is justified by the potential growth in sales.

Concerning the working capital cycle, inventory levels had dropped since 1998. The company may have tight inventory controls or management should keep and establish a safe inventory level system if necessary.

Receivable collection period was high in 1998 and decreased in 1999. Management should consider offering discounts or other alternatives in order to keep the receivable collection period as short as possible. The industrial average can be taken as a benchmark.

4.
Debt and equity ratios

These ratios will be of interest to stakeholders in the company such as creditors and shareholders. These rations may be referred to as “gearing ratios” to reflect the relative amount of company funds provided by equity or liabilities. The higher gearing ratio may imply the use of cheaper long-term finance, or the higher financial risk of the company, which may suffer, especially during periods of volatile profitability.

Little change occurred in the debt and equity ratios in 1998 and 1999. This reflects stability of the company’s capital structure.

5.
Interest and dividend covers

Interest cover represents the coverage of trading profit to interest payments. The ratio rose slightly from 2.2 to 2.3 in 1999. This may be in line with the drop in the average debt level. It reflects a larger coverage of trading profit to interest expenses.

Dividend cover indicates the coverage of earnings per share to dividend per share. The smaller the ratio, the higher the portion of the dividend paid out from the earnings in each share, and the less retained funds kept by the company for further grow.

6.
Investment ratios

The P/E ratio represents the ratio of the market price of the company’s ordinary shares to earnings per share. The surge in the ratio may be due to growing market demand for ordinary shares.

The P/E rose in 1999. This may be caused by the company’s business nature (IT). The result was an increase in stock price. Management should investigate the increase to check for any abnormal transactions that may have caused the boost in the stock price.

Dividend yield increased but the earnings yield decreased in 1999. The earnings yield represents the return received by investors with respect to the share price. The lower the ratio, the longer the time investors must wait for returns to be paid.

The rise in dividend yield may benefit the company if long-term funds are to be requested from equity investors. However, management may consider adopting a more conservative dividend policy in line with earnings and the forecast of the company’s development. This will deteriorate shareholder confidence of the company’s future revenues are not promising.

7.
Conclusion

With regard to the ratios discussed above, management should consider the company’s ratios in view of the industrial average, or the ratios of similar organisations.

The company is gradually growing in terms of its sales volume. Management may consider the diversification of business in order to eliminate the external economic environment risk.

It is also suggested that they pay greater attention to monitoring the high debt and inventory levels. As stock price movement and company performance are not correlated, management should look into the issue so as to meet shareholders’ objectives in the long term.

Finally, the ratios were computed based on historical costs. In view of the inherent limitations of ratio analysis, detailed operation and market studies are recommended in order that the company may obtain a more accurate and clear picture of its current situation.

2.
(a)

	
	Ratio
	Alpha
	Beta

	(i)
	Gearing ratio
	
	

	
	(Prior charge capital / Total capital) x 100%
	[600 / (2,700 + 600)] x 100%

= 18.2%
	[1,200 / (2,700 + 1,200)] x 100%

= 30.8%

	
	Or (Prior charge capital / (ordinary capital + Reserve) x 100%
	Or 600 / 2,700 x 100%

= 22.2%
	Or 1,200 / 2,700 x 100%

= 44.4%

	(ii)
	Net trading margin
	
	

	
	(Profit before interest and tax / Sales) x 100%
	[(300 + 60) / 6,000] x 100% = 6%
	[(300 + 180 / 7,200)] x 100% = 6.7%

	(iii)
	Return on capital employed
	
	

	
	(Profit before tax and loan interest / Shareholders’ Funds + long-term loan) x 100%
	[(300 + 60) / (2,700 + 600)] x 100%

= 10.9%
	[(300 + 180) / (2,700 + 1,200)] x 100%

= 12.3%

	(iv)
	Return on shareholders’ funds
	
	

	
	(Profit before tax / Shareholders’ funds) x 100%
	300 / 2,700 x 100%

= 11.1%
	300 / 2,700 x 100%

= 11.1%

	(v)
	Asset turnover

(Sales / Net assets)
	6,000 / 2,700

= 2.22 times
	7,200 / 2,700

= 2.67 times

	(vi)
	EPS
	
	

	
	(Profits attributable to ordinary shareholders / No. of ordinary shares issued
	250 / 1,500

= 16.7 cents
	250 / 2,000

= 12.5 cents

	(vii)
	Price earnings ratio
	
	

	
	(Market price / EPS)
	1.9 x 100 / 16.7 = 11.4
	1.4 x 100 / 12.5 =11.2

	(viii)
	Interest cover
	
	

	
	(Profit before tax and loan interest / loan interest
	(300 + 60) / 60

= 6
	(300 + 180) / 180

= 2.7


(b)

GSS Ltd intends to expand its business through acquisition. The management has prepared the ratio analysis in part (a):

(i)
It can be seen from the gearing ratio and interest cover that Beta has a higher level of borrowings and that the borrowing costs absorb a large part of the company’s profit.

(ii)
Both companies shareholders’ funds have the same return. However, the net trading margin and the return on the capital employed indicate that Beta has a higher return than Alpha.

(iii)
It can be seen that Beta has better asset utilization than Aloha. This contributes partly to the higher return in part (ii).

(iv)
Alpha has higher earnings per share and a higher share market price than Beta. This is reflected in the similar P/E ratio fro the two companies.

(v)
Based on the above findings, Beta is riskier than Alpha in terms of gearing ratio. However, Beta enjoys a higher rate of return and better assets utilization than Alpha. If GSS is willing to take higher risks, Beta seems to be better as it provides a higher return. On the other hand, if GSS is not willing to take a higher risk, then Alpha would be a better choice as it is a low-geared company.

(c)

Other information to be considered in analyzing the operating results and financial position of the companies include:

(i)
Comments in the Chairman’s and the Directors’ reports;

(ii)
Comments in the Auditors’ reports with special attention paid to any qualified opinion;

(iii)
Accounting policies adopted by the companies in the preparation of financial statements;

(iv)
Other noticeable information included in the reports and accounts of the companies such as post balance sheet events, contingent liabilities and taxation positions of the companies;

(v)
Current and future developments in the companies’ markets, at home and overseas; and

(vi)
Any other relevant points.

3.
(a)

	(i)
	Stocks

	
	= $7,500,000 x 3/12

	
	= $1,875,000


	(ii)
	Debtors

	
	= $12,000,000 x 2/12

	
	= $2,000,000


	(iii)
	Creditors

	
	= $7,500,000 x 2/12

	
	= $1,250,000


	(iv)
	Cash

	
	= $1,250,000 x 3.6 – ($1,875,000 + $2,000,000

	
	= $625,000


(b)

	
	1997
	Rate of increase
	1998

	Sales
	$12,000,000
	20%
	$14,400,000

	Cost of sales
	$7,500,000
	20%
	$9,000,000


	(i)
	Stocks (1998)

	
	= ($9,000,000 x 2/5) – $1,875,000

	
	= $1,725,000


	(ii)
	Debtors (1998)

	
	= ($14,400,000 x 2/9) – $2,000,000

	
	= $1,200,000


	(iii)
	Creditors (1998)

	
	= ($8,8500,000* x 2/8) – $1,250,000

	
	= $962,500


	*
	$

	Opening stock (1997)
	1,875,000

	Purchases (bal. Fig.)
	8,850,000

	Less: Closing (1998)
	(1,725,000)

	Cost of sales (1998)
	9,000,000


	(iv)
	Debtors (1998) + Cash (1998)
	=
	2

	
	Creditors (1998)
	
	1


Cash (1998) = $725,000

(c)

By direct method

	
	$
	$

	Debtors balance at 30 June 1997 
	2,000,000
	

	Sales for the year ending 30 June 1998
	14,400,000
	

	Less: Debtors balance at 30 June 1998
	(1,200,000)
	

	Cash received from customers
	
	15,200,000

	
	
	

	Creditors balance at 30 June 1997
	1,250,000
	

	Purchases for the year ending 30 June 1998
	8,850,000
	

	Less: Creditors balance at 30 June 1998
	(962,500)
	

	Cash paid to suppliers
	
	(9,137,500)

	Expected net cash inflow from operating activities
	
	6,062,500


(d)

	
	
	$

	Cash balance at 30 June 1997
	
	625,000

	Net cash inflow from operating activities
	
	6,062,500

	Net cash outflow for interest expense
	
	(962,500)

	Less: Cash balance at 30 June 1998
	
	(725,000)

	Cash flow available for investing activities
	
	5,000,000


4.
(a)(i)

Use of financial ratios

Ratios can be grouped into certain categories, each of which reflects a particular aspect of financial performance or position.

Profitability

Profitability ratios are used to assess the company’s performance and its efficiency of operation. These ratios show the relationship between profit and resources employed in the operation.

Management efficiency
Management efficiency ratios can be used as an evaluation of how effectively a company’s management employs the assets to generate revenue.

Liquidity
Liquidity ratios are a set of ratios used to evaluate a company’s ability to meet its short term obligations and thus ensure short term survival.

Capital structure
Capital structure is concerned with how the net assets of a company are financed by a mixture of shareholders; capital and long-term loan capital. Capital structure ratios test the long-term solvency of a company.

(a)(ii)

Limitations of ratio analysis

Quality of financial statements
Ratios are based on financial statements, and the results of ratio analysis depend on the quality of these underlying statements. Ratios will inherit the limitations of the financial statements on which they are based. Poor quality and unreliable financial statements can only lead to poor quality analysis and interpretation.

Restricted vision of ratios
It is important not to rely on ratios exclusively and thereby lose sight of information contained in the underlying financial statements. Some items reported in these statements can be of vital important in assessing a company’s financial position. For example, the total sales, capital employed and profit figures may be useful in assessing changes in absolute size which occur over time, or differences in scale between businesses. Ratios do not provide such information.

Basis of comparison
Ratios require a basis for comparison in order to be useful, and it is important that one is comparing like with like. When comparing businesses, however, no two businesses will be identical, and the greater the differences between the businesses being compared, the greater the limitations of ratio analysis. Furthermore, when comparing businesses, differences in such matters as accounting policies, financing policies and financial year ends will add to the problem of evaluation.

Balance sheet ratios
Because the balance sheet is only a “snapshot” of the business at a particular moment in time, any ratios on balance sheet figures may not be representative of the financial position of the business for the year as a whole.

(Marks will be given for other relevant points.)

(b)(i)

	
	1999
	2000

	Net profit margin
	1,828/18,904 = 9.7%
	2,084/22,730 = 9.2%

	ROCE
	1,828/22,066 = 8.3%
	2,084/27,886 = 7.5%

	Current ratio
	10,106/3,270 = 3.1
	15,400/10,348 = 1.5

	Gearing ratio
	2,440/22,066 = 11.1%
	7,348/27,886 = 26.4%

	Trade receivables turnover
	(5,080/18,904) x 365 = 98.1 days
	(8,560/22,730) x 365 = 137.5 days

	Net asset turnover
	18,904/19,626 = 1.0 times
	22,730/20,538 = 1.1 times


(Marks will be awarded to acceptable alternative definitions of ratios.)

(b)(ii)

The net profit margin was slightly lower in 2000 than in 1999. Although there was an increase in sales in 2000, this was not sufficient to compensate and could not prevent a slight fall in the ROCE in 2000. The lower net profit margin and increase in sales may well be due to the new contract. The net assets of the company increased in 2000, but not in proportion to the increase in turnover. Hence, the net asset turnover ratio increased slightly over the period. The increase in assets during 2000 appears to have been funded largely by an increase in borrowing. However, the gearing ratio is still low, indicating possible unused debt capacity.

The major cause for concern has been dramatic decline in liquidity during 2000. The current ratio has more than halved during the period. There has also been a similar decrease in the acid test ratio from 1.6 in 1999 to 0.8 in 2000. The balance sheet shows that the company now has a large overdraft, and the trade and other payables outstanding have nearly doubled in 2000.

The trade receivables outstanding and inventories have increased much more than appears to be warranted by the increase in sales. This may be due to the terms of the contract which has been negotiated and may be difficult to influence. If this is the case, the company should consider increasing the company’s long-term funding to accommodate the contract’s requirements.

5.
(a)

	(i)
	Gross profit margin
	=
	Gross profit

	
	
	
	Sales

	(ii)
	Net profit margin
	=
	Profit before interest and tax

	
	
	
	Sales

	(iii)
	Interest cover
	=
	Profit before interest and tax

	
	
	
	Interest expense

	(iv)
	Return on capital employed
	=
	Profit before interest and tax

	
	
	
	Capital employed

	(v)
	Return on shareholders’ capital
	=
	Profit before tax

	
	
	
	Share capital and reserves

	(vi)
	Gearing ratio
	=
	Long term debt

	
	
	
	Equity capital employed


	
	(b)
	(c)
	(d)
	(e)
	(f)

	Operational activities
	Existing
	Strategy A
	Strategy A
	Strategy B
	Strategy B

	Financing Arrangements
	Existing
	Existing
	Refinancing
	Existing
	Refinancing

	
	$
	$
	$
	$
	$

	Sales
	100,000
	99,000
	99,000
	117,000
	117,000

	Less: Cost of good sold
	60,000
	56,700
	56,700
	74,100
	74,100

	Gross profit
	40,000
	42,300
	42,300
	42,900
	42,900

	Operating expenses
	20,000
	19,000
	19,000
	22,000
	22,000

	Profit before interest & tax
	20,000
	23,300
	23,300
	20,900
	20,900

	Interest
	10,000
	10,000
	4,000
	10,000
	4,000

	Net profit before tax
	10,000
	13,300
	19,300
	10,900
	16,900

	
	
	
	
	
	

	(i) Gross margin
	40%
	43%
	43%
	37%
	37%

	(ii) Net profit margin
	20%
	24%
	24%
	18%
	18%

	(iii) Interest cover
	2.00
	2.33
	5.83
	2.09
	5.23

	(iv) Return on capital employed
	10.00%
	11.65%
	11.65%
	10.45%
	10.45%

	(v) Return on shareholders’ capital
	10.00%
	13.30%
	12.87%
	10.90%
	11.27%

	(vi) Gearing ratio
	100.00%
	100.00%
	33.33%
	100.00%
	33.33%


	
	Financing Arrangements

	Existing
	$

	Share capital
	100,000

	10% Debentures
	100,000

	Capital employed
	200,000

	
	

	Refinancing
	

	Share capital ($100,000 + $25,000)
	125,000

	Share premium ($1 x 25,000)
	25,000

	Shareholders’ capital
	150,000

	8% Long-term bank loan
	50,000

	Capital employed
	200,000


(g)(i)

Shareholders would prefer the combination of Strategy A without changing the existing financing structure because the return on shareholders’ capital (13.30%) is the highest and there is no need for shareholders to inject further capital upon rights issue.

(g)(ii)

Actually the bank only has two choices: either Strategy A or Strategy B because the existing financing arrangement does not involve the bank. Among the two strategies, bank would prefer Strategy A together with a change in the existing capital structure.

The bank is more willing to lend to a limited company with higher paid-up capital as the shareholders might have a deeper commitment to the business. Furthermore, the interest cover is 5.83 times, this makes the bank feeling more comfortable to the repayment capability of the borrower.

6.
(a)

	Profit and loss account
	Revised 2nd Quarter
	Revised 3rd Quarter

	
	$000
	$000

	Sales
	290
	280

	
	
	

	Opening stock
	150
	140

	Purchases
	190
	210

	
	340
	350

	Less: Closing stock
	140
	180

	Cost of sales
	200
	170

	Gross profit
	90
	110

	Less: Overhead
	70
	80

	Net profit/(loss)
	20
	30

	
	
	

	Balance sheet
	Revised 2nd Quarter
	Revised 3rd Quarter

	
	$000
	$000

	Fixed assets
	120
	140

	Current assets
	
	

	Stock
	140
	180

	Trade debtors
	110
	150

	Cash
	20
	0

	
	270
	330

	Current liabilities
	
	

	Trade creditors
	70
	70

	Bank overdraft
	0
	50

	
	70
	120

	Net current assets
	200
	210

	
	
	

	Total net assets
	320
	350

	
	
	

	Share capital
	100
	100

	Profit and loss account
	220
	250

	
	320
	350


(b)

	Profitability
	Revised 2nd Quarter
	Revised 3rd Quarter

	Gross profit ratio
	31.0%
	39.3%

	Net profit margin
	6.9%
	10.7%

	Return on share capital
	20.0%
	30.0%

	Return on fixed asset employed
	16.7%
	21.4%

	
	
	

	Liquidity
	
	

	Current ratio
	3.9:1
	2.8:1

	Liquid ratio
	1.9:1
	1.3:1

	
	
	

	Asset Management

	
	

	Creditors payment period
	28 days
	30 days

	Debtors collection period
	29 days
	42 days

	Stock turnover
	1.38 times
	1.06 times


(c)

Profitability

Gross profit of Azur Ltd has slightly declined from 33.3% to 31.o% in the second quarter despite an increase in sales by 20.8% ($290,000 vs $240,000). The efficiency might be due to the staff not being familiar with the operation of the new machines.

The gross profit margin improved significantly in the third quarter from 31.0% to 39.3% with better utilization of new machines.

The efficiency in the utilization of fixed assets has been recovered to the normal range (i.e. above 20%) after a disruption in the second quarter.

Liquidity

Azur Ltd’s liquidity was strong in the first quarter but it seems a bit excessive.

With an increase in sales in the second quarter, the debtors’ collection period has not changed much. However, in the third quarter, the debtors’ collection period lengthened from 29 days to 42 days. The management should tighten its control on debt collection to avoid the occurrence of bad debts.

With the increase in operating activities, Azur Ltd has increased its stock turnover from 1.19 times to 1.38 times in the second quarter, but declined in the third quarter. With an increase in stock balance and a declining stock turnover ratio, a careful review of the quality of stocks is required in order to get rid of obsolete stocks as soon as possible.

The company has been lengthening the period of payment to its creditors from 24 days in the first quarter to 30 days in the third quarter.

7.


	
	AB Ltd
	PT Ltd

	
	1994
	1995
	1994
	1995

	Return on assets employed
	20.0%
	25.0%
	23.0%
	12.5%

	Net profit margin
	20.0%
	22.7%
	23.0%
	8.9%

	Capital turnover
	$1.00
	$1.10
	$1.00
	$1.40

	Stock turnover
	2.5
	2.4
	2.5
	2.1

	Debtors ratio (month)
	3.0
	2.2
	2.8
	3.0

	Creditors ratio (month)
	9.6
	9.7
	8.4
	9.0

	Current ratio
	3:1
	2.1:1
	3.1:1
	1.4:1

	Liquid ratio
	2.5:1
	1.59:1
	2.57:1
	0.76:1

	Cost of sales/Sales
	20%
	18%
	20%
	30%

	Salaries/Sales
	15%
	14.5%
	14%
	14.3%

	Overheads/Sales
	20%
	20%
	21%
	21.4%

	Administrative expenses/Sales
	15%
	14.5%
	12%
	13.2%

	Selling expenses/Sales
	10%
	10%
	10%
	12.1%


[Each figure 0.25 mark, total 13 marks]

Profitability
AB Ltd has improved its return on assets employed from 20% to 25% and net profit margin from 20% to 22.7%. However, PT LTd has reduction in return on assets employed from 23% to 12.5% and has substantial reduction in net profit margin from 23% to 8.9%. When compared with AB Ltd and PT Ltd, AB Ltd has a much more impressive return than PT Ltd.

On further analysis, it appears that decline in PT Ltd’s return might be a mixture of lowering selling price so as to increase its sales turnover and the worsening of cost control in stocks.

Asset management
Both companies have improved in the capital turnover ratio especially PT Ltd. More sales are generated by PT LTd for $1 of capital employed, which implies more efficient asset management.

Although the sales turnover of PT Ltd has grown by 40%, the stock turnover dropped from 2.5 times to 2.1 times. As compared with PT Ltd, AB Ltd is able to maintain a stabler and higher level of stock turnover. A slower stock turnover means more stock-holding stocks.

AB Ltd has improved in its credit control by cutting the debt collection period from 3 months to 2.2 months. On the other hand, PT Ltd seems concentrated in sales growth without taking care of the credit control. PT Ltd takes an additional 24 days to collect the debts as compared with AB Ltd. A quicker collection period means less risk of bad debts and a smaller loss of purchasing power in terms of inflation.

Financial management
Both companies are able to take full advantage of the cheapest source of finance by continuing to pay its creditors over nine months period.

Liquidity
Both companies have not been in good use of its working capital in 1994 with excessive liquidity maintained. This is proved by the three times current ratio and two times liquid ratio. Normally two times current ratio and one time liquid ratio will be sufficient. By the end of 1995, AB Ltd is able to eliminate the excessive liquidity but with adequate liquidity maintained. However, as PT Ltd’s liquidity has been deteriorating, there is the danger that the business will be unable to meet its immediate debts unless stocks can be sold quickly or there is new capital injection. A poor liquid ratio is sometimes a sign of approaching insolvency.

Cost control
From selling expense/sales ratio, it appears that PT Ltd has spent more in increasing the sales. However, the cost of sales/sales ratio indicates that PT Ltd has lost control in cost, and the ratio climbed from 20% to 30%. Tightened controls should be in place by PT Ltd on purchases, unnecessary discounts should not be given. Other than the cost of sales, the biggest cost item is overheads, which both companies have kept under control.

Conclusion
The board of directors emphasizes cost control and asset management. AB Ltd has shown greater efficiency than PT Ltd in this regard. Furthermore, AB Ltd’s financial position is healthier than that of PT Ltd in terms of profitability and liquidity.

The financial controller of AB Ltd should be appointed as the financial controller of Parker Ltd.

8.
(a)
The problems of using ratio analysis when making investment decisions include:

· A single ratio provides limited information, but a group of related ratios gives an overall picture of the performance and financial position.

· Comparisons using ratios need to consider the current economic climate, type of industry, and a company’s specific circumstances.

· Performance criteria or yardsticks are not appropriate for all types of industries. Different types of industries have different sets of target ratios.

· Conglomerates are often difficult to categorise into industry segments to allow cross-sectional comparisons because of their multiple limes of business.

· Certain accounting treatments may differ widely among companies: as a result, different accounting policies may make the comparison among companies misleading.

· Ratio analysis is based on financial data in the financial statements: as a result, the limitations inherited in accounting data affect the effectiveness of ratio analysis.

Examples of such limitations are:

· Historical cost data distorts comparisons between different periods.

· The seasonality in a particular industry may affect the interpretation of the financial position of a company.

(1 marks for each point, maximum 6 marks)

(b)
The calculation of ratios
	
	
	$000
	2004
	$000
	2003

	(i)
	Return on capital employed
	(7,289 + 74)/13,690
	53.78%
	(3,792 + 18.5)/9,250
	41.20%

	(ii)
	Net assets turnover
	31,450 / 13,690
	2.30 times
	24,050 / 9,250
	2.60 times

	(iii)
	Net profit margin
	(7,289 + 74) / 31,450
	23.41%
	(3,792 + 18.5) / 24,050
	15.84%

	(iv)
	Current ratio
	4,921 / 4,625
	1.06
	4,033 / 2,183
	1.85

	(v)
	Quick ratio
	(4,921 – 1,369)/4,625
	0.77
	(4,033 – 888)/2,183
	1.44

	(vi)
	Inventory turnover
	22,015/1,369
	16.08 times
	17,79/888
	33.69 times

	(vii)
	AR collection period
	3,552/31,450 x 365 days
	41.22 days
	2,220/24,050 x 365 days
	33.69 days

	(viii)
	AP payment period
	3,811/22,015
	63.18 days
	2,183/17,797 x 365 days
	44.77 days


(c)

Profitability

The profitability of Happy Limited has shown an improvement from a ROCE 41.2% during 2003 to 53.78% in 2004. However, the net asset turnover has declined from 2.6 to 2.3 times from 2003 and 2004. The improvement in ROCE could come from the improvement in net profit margin, which increased from 15.84% to 23.41%

Liquidity

The current ratios for both years appear to be acceptable even though it has declined from 1.85 to 1.06. However, the liquidity position of Happy Limited has deteriorated significantly in view of the significant decline of quick ratio from 1.44 to 0.77.

Since the liquidity position is not satisfactory, it is worth finding out the reasons for the deteriorating cash flow position:

· Inventory turnover declined from 20.04 to 16.08 times; however, the holding period for inventory is reasonable.

· The accounts receivable collection period shows a decline of 7 days in collecting cash from customers. However, the collection period for 41.22 days during 2004 is still acceptable.

· The accounts payable payment period increased from 44.77 days to 63.18 days when compared with 2003; this provides additional evidence to the deterioration in Happy’s cashflow.

· The company has raised long-term interest-bearing finance of $1.85 million, also additional evidence of the deterioration in the cashflow.

Gearing

During 2003, Happy had no problem with gearing because the company had no long-term loan. During 2004, the gearing was not ideal as the gearing ratio is 0.5 [debt/(debt + equity) = $1.85/(1.85 + 1.85)]. At this gearing level, if the high net profit margin of 23.41% cannot be maintained, then the company’s ability to repay its loan and its financial position will decline.

Overall financial performance

The major concern for Happy’s financial performance is the deterioration in the payment period to suppliers. This may lead to a deterioration of the relationship with suppliers. Moreover, the reason of raising the large long-term loan should be investigated because this will affect Happy’s liquidity position in the long run.

9.
(a)

Usefulness of financial ratio analysis

Financial ratios analysis enables users to analyse and interpret financial statements and highlight potential problem areas.
Users of financial reports can make a trend comparison, comparing the historical trend of the financial performance of a company, or make a horizontal comparison, comparing the financial results of different companies, irrespective of their operating size.

Users of financial reports can also compare a company’s ratios to the norm or benchmark ratio in the industry and highlight unusual circumstances.

Computation of financial ratios is easy and does not require a high level mathematical technique.

(1 mark for each point, any 4 points, maximum 4 marks)
Limitations of financial ratio analysis

A stand ratio provides only limited information for evaluation and appraisal of a company’s financial performance, but there may also be difficult in getting appropriate benchmark ratios for comparison and evaluation. Even the use of an industry average may be misleading because for a meaningful comparison, we should compare companies in the same industry, with a similar size of operation and similar accounting policies, etc. All in all, a meaningful comparison should compare like to like.

The calculation of the ratio itself is also a problem – should we use an average or a balance sheet date figure? It would be more desirable to use an average figure if there is seasonal fluctuation in the company’s business activities, but then outside parties are only provided with the balance sheet figure for computation of financial ratios.
Accounting policies may vary widely among companies, and this leads to a lack of uniformity and comparability of financial statements. The financial ratios, if derived from inconsistent financial statements, would not provide meaningful information for comparison purposes.

The reliability of financial information is another matter of concern. Unreliable financial information will lead to a misleading or poor quality analysis.

Conglomerates, which have multiple lines of business, are often difficult to categorise into industry segments for the purpose of performing a cross-sectional comparison.

The over-reliance on ratios for evaluating the financial performance of a company may lose sight of information in the underlying financial statements. Other information which forms part of the financial report is also essential for the evaluation of a company’s financial performance.
(1.5 marks for each point, any 4 points, maximum 6 marks)

(b)

Profitability

Sea Ltd. earns a higher profit margin compared to Bay Ltd., but the percentage of operating costs is also higher (i.e. 12% vs. 7%). This may indicate that Sea Ltd. focuses more on high end services and charges higher price, but Sea Ltd. also incurred higher operating costs in their services. [3 marks]
Return on capital employed

Bay Ltd. has a more favourable ratio of return on capital employed when compared to Sea Ltd. (i.e. 30% vs 24%). This would partly be due to a higher asset turnover ratio enjoyed by Bay Ltd. (i.e. Bay Ltd: 2 times ; Sea Ltd: 1.2 times).
Hence, Bay Ltd has used its assets more efficiently, and this may be due to the two companies serving different tiers of the market.


[3 marks]

Working capital management and liquidity

Sea Ltd has more efficient working capital management. Sea Ltd has a shorter debtors collection period and a longer accounts payable period, whereas the situation is reversed for Bay Ltd. This may indicate that Sea Ltd has a better negotiation ability in its credit terms.

Also, as Bay Ltd has a longer accounts payable period and a shorter debtors collection period, the company needs extra cash to finance its creditors’ accounts.

Partly due to reason mentioned above, the liquidity position of Sea Ltd is better than that of Bay Ltd.


[3 marks]
Gearing ratio
Bay Ltd has a higher gearing ratio when compared to Sea Ltd, so Bay Ltd, has a higher financial risk. However, the higher gearing ratio will also bring in a higher return on equity, which means a higher return to shareholders. [3 marks]
Recommendation

Based on the above analysis, it appears that Sea Ltd is a better option for Park Ltd. The business strategy of Sea Ltd, that focuses more on high-end service, is more in line with that of Park Ltd. Besides, the profitability of Sea Ltd is more favourable, its management of working capital is also more desirable, and the company has lower liquidity and gearing risk. [3 marks]

A19-20

